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1.  (A) Explain the concept of growth and development and discuss its measures.

(B)
2. (A)
(B)
MA-138

What is Human Development Index ? Discuss its important components.
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OR

Answer any four questions from the following in brief :

(1)
)
3)
(4)
)
(6)

Critically examine the theory of economic development of Schumpeter.

Explain the relative concept of poverty.
Give meaning of growth.

Explain the stage of population explosion.
State the characteristics of modern growth.
Explain the concept of absolute poverty.

State the indicators of poverty.

OR

Discuss the theory of economic development of Karl Marx.

Answer any four questions from the following :

(1)
(2)
3)
4)
(5
(6)

State the limitations of theory of Adam Smith.

What is division of labour ?

Explain the process of capital accumulation in theory of Ricardo.
Explain the concept of population growth in theory of Malthus.
What is innovation ?

What is surplus value ?
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3. (A) Explain the theory of ‘circular causation’ of economic growth given by Myrdal. 14

(B)
4. (A)
(B)
MA-138

OR

Discuss any one theory of unbalanced development.

Answer any three questions from the following : 3
(1) What is Balanced Development ?

(2) What is Dual Economy ?

(3) Who has given the theory of ‘Big Push’ ?

(4) What is Social dualism ?

(5) Explain the concept of vicious circle of poverty.

Explicit the relationship between sustainable agricultural development and new
technology. 14

OR

Evaluate the contribution of agriculture sector in economic development of India.

Answer any three questions from the following : 3
(1) State the factors affecting agriculture productivity.

(2) What is crop pattern ?

(3) Explicit the meaning of small and marginal farmers.

(4) State the reasons of unemployment related with agriculture sector.

(5) What is minimum support price ?
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1. (A) Critically evaluate Ricardo’s theory of comparative cost in International Trade. 14
OR

Write any two :

(a) State Stolper-Samuelson’s theorem.
(b) Discuss Rybczynski theorem.

(c) State Leontief Paradox.

(B) Objective questions : 4
(1) When one country provides most favoured nation status (normal trade
relations) for another, it agrees to
(a) charge that nation’s products a lower tariff than other nation’s.
(b) charge that nation’s products not a high rate tariff than that on any
other.
(c) charge that nation’s products a higher tariff than any other nation’s.

(d) exports to that nation any products that it wants to purchase.

(2) In what situation will international trade not exit ?
(a) Similar cost difference
(b) Comparative cost difference
(¢) Full cost difference

(d) Equipment difference

(3) The comparative advantage model of Ricardo was based on
(a) intra industry specialization and trade.
(b) inter industry specialization and trade.
(c) demand conditions underlying specialization and trade.

(d) income conditions underlying specialization and trade.
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(4) Which theory of international trade is known as modern theory ?
(a) Absolute cost (b) Comparative cost

(c) Opportunity cost (d) Factor endowment

2. (A) ExplainJ.S. Mill’s reciprocal demand theory.
OR
(a) Explain various factors affecting terms of trade.

(b) Explain the types and importance of terms of trade.

(B) Objective questions :
(1) The concept of gross barter terms of trade is given by Economist .
(a) Pro. Dorrance (b) Pro. Taussing

(¢) Pro. Jakob Winer (d) Pro. Marshal

(2) Which of the following factors does not affect terms of trade ?
(a) Political Policy (b) Devaluation of Currency
(c) Import Tariff (d) Economic Development

(3) Terms of trade depicts
(a) export quality in exchange of import units.
(b) import quality in exchange of export units.
(¢) (a)and (b) both.
(d) None of the above
(4) When several countries jointly impose common external tariffs, eliminate
tariffs on each other and eliminate barriers to the movement of labour and
capital among themselves, they have formed a/an
(a) Free Trade Area
(b) Custom Union
(c) Common Market

(d) Economic Union

MA-138 10



3. (A) Write any two : 14

(B)

MA-138

(a) Critically evaluate ‘Effective Rate of Tariff.

(b) Explain Infant industry argument in favour of protection.

(c) Discuss the similarities and dissimilarities between Tariff and Import quota.

(d) Explain the types of Tariff.

Objective questions : (any three) 3
(1) The movement to free international trade is most likely to generate short-

(2)

3)

(4)

term unemployment in which industries ?

(a) Industries in which there are neither imports nor exports.
(b) Import-complimentary industries.

(¢) Industries that sell to domestic and foreign buyers.

(d) Industries that sell to only foreign buyers.

A tax of 15 percent per imported item would be an example of a(an)
(a) Ad valorem tariff (b) Special tariff

(c) Effective tariff (d) Compound tariff

Specific tariffs are collected as

(a) fixed amount of money per unit traded
(b) apercentage of the price of the product
(c) apercentage of the quantity of imports

(d) All of the above

If the world price of steel is $ 500 a ton, a specific tariff of § 50 is equivalent

to an Ad valorem tariff of
(a) 5 percent (b) 10 percent

(c) 15 percent (d) 20 percent

11 P.T.O.



4. (A) Critically evaluate the various agreements under WTO. 14
OR

Discuss the International Monetary System.

(B) Objective Questions : (any three) 3
(1) All of the following are fundamental to the World Trade Organization

except :

(a) bilateral tariff reductions to promote trade liberalization.

(b) use of the most-favoured-nation clause (normal trade relations)
(¢) non-discrimination in trading relationships.

(d) prohibition of import quotas and export quotas.

(2) Following World War-II, the United States and other countries sought to
libralize trade among each other. The first major postwar step toward trade

liberalization was the

(a) General Agreement on Tariffs and Trade
(b) World Trade Organization

(¢) Smoot-Hawley Organization

(d) McKinley Agreement on Trade Policy

(3) According to U.S. trade law, maintaining “normal trade relations” with

another country is also known as providing
(a) most favoured nation treatment

(b) trade remedy treatment

(c) safe guard treatment

(d) escape clause treatment

(4) The European Union has achieved all of the following except :
(a) adopted a common fiscal policy for member nations.
(b) established a common system of agricultural price supports.
(c) disbanded all tariffs between its member countries.

(d) levied common tariffs on products imported from non-members.
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